6.5 Angles practice with words.notebook January 11, 2018
Do Now

J{Find the value of x
2) Find the degree measure of each angle

T x + 50)°

5B 5 4 xr 8D= 9D

co” (3x)° /'/X %‘-90
x =10

Jan 25-12:23 PM

Homework Answers

_ MQO1 = 60
1) OPQR =109 5) Mot
mo1 = 79
2) mo3=66 6) mo2 = 79
3) moL= 124 /)x=4
4)mo1 = 132 8)x =6
mO2 = 48
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If /1 and /2 are supplementary angles and The m /1 = 7x - 4°
andm 2 =12x+13°. Find them /1 & m /2.

T 441232 180 o 7L
|9y +\g= (SO < >

d\q me | = M- Y
% = () - H Y
Y b9
X Q\ Med = 19x+)3

pE)+1>
M@=/l

Jan 8-5:10 PM

If /1 and /2 are complementary and their measures are in the ratio of
2:4. Find them A & m 2.
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=Q015)
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G ~ 00’

18 mea = 60
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If /1 and /2 are complementary and their measures are in the ratio of
4:5. Findthem /1 & m /2.

Hor Sx= A0 me) = Hy
=4(1D)
qx = C?b mel = 4pP°
X = 1D m<c2 :SX
=5(10)
M<A = 507

Jan 9-6:47 AM

21, 22, and « 3 are adjacent angles, with /1
supplementary to 2 and ~ 2 complementary to 3. If
m, 1= (8x+3)°and m 2 = (5x-18)°, find m » 3.

<z,~l-”‘r5 6*,\8”51

<
N <z =

na - Ay - 14
Sx+3+ 5% (R - \SQ) - 509) ’i%
\qw\gg; RO MeR=57
ol 13 e 3= Sp- 57

x <95 _33°
% —lg M<3*33
X=

Jan 9-10:29 PM
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OP and 0OQ are supplementary angles. If mOP is 21
degrees less than twice the measure of 0Q, find the

measure of each angle. o
"y <= b]

e <Pz Qx|
2x-Ql+y= [RD D2

B = D
3 310\ <P: 1%
T 2., —

X :ﬂ X'—'&’?
)

January 11, 2018
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If /1 and /2 are supplementary and their measures are in the ratio of
5:7. Findthem /1 & m /2.

Sy + Ix=/¢0 mel=5x

N ( = /gD :5(\6)
P _)Q_ me\ = 50
X-—- ]5 m4(9\ :_7>(

=77015)
e = o B
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